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General Instructions:

1. This question paper contains 34 questions.

2. Marks are indicated against each question.

3. Answers should be brief and to the point.

4. Answers to the questions carrying 3 marks may be from 50 to 75 words.
5. Answers to the questions carrying 4 marks may be about 150 words.

6. Answers to the questions carrying 6 marks may be about 200 words.

7. Attempt all parts of the questions together.
8 An internal choice is available in Que 23,24,29,30,33
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Which is called Essence of Management
a) Leadership b) Supervision
c) Coordination d) Communication
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Principle of Unity of Direction Improves of organization.
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Business Environment is a group of internal forces (True/False)
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gives a detailed explanation of how to complete an action.
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Which of the following is an example of Policy?

a) Increase in sales of readymade garments.
b) Increase sales by Rs. 2000 crore
C) Provide employment to 100 people

d) Not to provide credit to customers.
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Getting more authority helps in managerial development. This statement is related to
which of the following
a) Centralization b) Delegation

C) Decentralization d) None of the above
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In which of the following organization principle of scalar chain is completely following

a) Formal Organization b) Informal Organization
C) Divisional Structure d) None of the above
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Recruitment process begins with
a) Demand of Employees b) Inviting people interested for job
C) Strike d) All of the above
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Disengagement of an employee from work upon attaining a certain age is
called
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Controlling function brings the management cycle back to the
a) Organizing function b) Directing function
C) Planning Function d) None of the above
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Controlling is blind without planning (True/False)
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If a large company holds a large amount of money through reserves then who is most
affected? (1)
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Choose the correct option:

Assertion (A): Debt is more risky as compared to equity.

Reason (R): Payment of Dividend and return of Principal amount is obligatory for the
Business in case of equity.

A) Assertion (A) and Reason (R) are correct but Reason (R) is not the correct
explanation of Assertion (A)

B) Assertion (A) is correct but Reason (R) is wrong.

C) Both Reason (R) and Assertion (A) are correct and Reason (R) is correct
explanation of Assertion (A)

D) Both Assertion (A) and Reason (R) are not correct
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is the policy adopted by manufacturers to get success in the field of marketing
a) Marketing Mix b) Product Mix
C) Promotional Mix d) Prince Mix
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In which marketing concept is the priority on the customer and not on the product?
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In case of National Commission, what should be the number of women in Board?
A) 2 b) 3 c) 4 d) 1
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is a certificate of quality of agricultural products.
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Which of the following is not an example of non-financial incentive?
a) Career Advancement Opportunity  b) Perquisites

c) Status d) Organizational Climate
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Assertion (A): Motivation can be forced on employees
Reason (R): The internal feelings influences human behavior to act in a particular manner
Choose the correct option:

A) Assertion (A) is false but Reason (R) is true

B) Assertion (A) is true but Reason (R) is false

C) Assertion (A) and Reason (R) both are true

D) Assertion and Reason (R) both are false
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Consumer should look for Hallmark to check quality of electric products (True/False)
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Give any 3 reasons examples of the impact on Business organization due to the changes
in social environment.
Or
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What do you mean by Business Environment? Explain any 2 characteristics of it.
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What is meant by Marketing? Explain any 2 features of it.
Or
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Describe the meaning and any 2 features of Industrial product
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Write a short note on Investment Decisions
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What is financial risk? Why does it arise?
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Explain the concept of Mental Revolution given by Taylor
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Explain Scalar chain and Division of work as principles of Management 4
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Explain Authority and Responsibility in detail
Or
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Explain in brief any 4 points which highlight the Importance of Decentralization of

Organization.
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What is meant by Recruitment? Explain any 3 external sources of recruitment.
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Taking corrective action is the last step in the process of one of the function of

management
a) Name the Function

b) Explain the other steps of the above mentioned function
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What do you mean by Dividend Decision? Explain the different factors affecting

Dividend Decision.
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Explain any 4 responsibilities of a consumer
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Management is a Science. Explain in detail
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Explain in brief any 4 characteristics of coordination
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What do you mean by Policy and procedures. State any 4 differences between Policy and
Procedures
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Give any 4 steps of Planning process.
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Explain any 6 factors which should be considered while formulating product price.
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State the definition of supervision and explain in detail any 4 characteristics of

supervision.



